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Find the 22022 and the 4702 resistors from your parts kit.

black

brown “gold = 45%
tolerance
silver = £20%

red -
second  number
orange digit | of zeros

yelow | 4|

Example: 4708 resistor
4 = yellow

blue 7 = violet
Add 1 zero to 47 to make 470, so 1 = brown

So, 470 = yellow

violet

Now, find the 2208 resistor.
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measure the total current from the power source

current flow

Compute the current after you make your measurement.

use Ohm’s law:

V=R or I=V/R  Rleg=1/1/220Q +1/470Q =1}9.90

+
470Q

I=V/RIGV#149.9Q =0.133
compare
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measure the total current through the 2200 resistor

current flow

Compute the current after you make your measuremeﬁ
use Ohm's law:

V=IR or [=V/BE/220Q=

34 compare
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measure the current through the 470Q resistor

Compute the current after you make your measurement
use Ohm's law:

V=IR or I=V/BE/AT0Q=0.0114 compare

E more current goes through smaller resistor
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n Kirchoff’'s Current Law (KCL)

The algebraic sum of currents entering a node is zero

<

£ Current In = Current Out

~

S

n




